L5

BOLT
Hi7k BUZEE20B 44 rERR PFCTIE SHEXIB4P AR FMA,FMB 7JiE
COOLANT TYPE SCREW BOLT APPLY TO FMA,FMB HOLDER

APPLY TO PFC HOLDER

Order No.
HE- L oD M
1 | Order No. FMSP-16 | 12] 20| M18X1.25
HE od L M FMSP-22 | 15 28| M10X1.5

PFC20-M18C | 16 | 22| M8x1.5

L PFC25-M22C | 20| 27 | M22x1.5
‘ L PFC32-M28C | 26 | 32| M28x1.5

FMSP-27 | 16 33| M12X1.75
FMSP-32 | 20 40 M16X2
FMSP-40 | 25 50 M20X2.5

AV ZKE ERRHSK IR

COOLANT PIPE
APPLY TO HSK SHANK
TOOL HOLDER

SPARE PARTS

T/ ﬁ Il
s| J - 3 — Order No.
| T“J w b e M od L L1 H
HSK50P M16XP1.0 10 326 95 4
L1 ‘ HSK63P M18XP1.0 12 36.2 10.4 5
L HSK100P M24XP1.0 16 43.9 15.4 6
;}i; FERRFPOHKE
SPANNER
APPLY TO COOLANT PIPE
I
e S— -
[ |
Order No.
HE- 5 L od H
L PHS-HSK50P 97.9 16 3.9
L PHS-HSK63P 98.4 18 59

APABFAITE 145



